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proper: s or second; cm® or cubic centimeter; m/s or meter per second

IMproper: sec; cc; mps
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proper: /=75 cm

improper: /=75 cms
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proper: The length of the bar 1s 75 cm.
The bar 1s 75 cm long.

improper: The bar 1s 75 cm. long.
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proper: The speed of sound is about 344 m-s™! (meters per second)
The decay rate of 113Cs is about 21 ms™! (reciprocal
milliseconds)

' i y : '
nvs, ms2, mkg/(s>A). mkgs3 Al
m/s, ms>, m kgf'{s5 A), mkg 53 Al

improper: The speed of sound is about 344 ms™! (reciprocal milliseconds)
The decay rate of 113Cs is about 21 ms! (meters per second)
m < s, m/s/s, 111-kgf's3.x’A
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proper: She exclaimed, "That dog weighs 10 kg!"
t =3 s, where 7 1s time and s 1s second
I'=22 K. where T i1s thermodynamic temperature, and K is
kelvin

------- umproper: He exclaimed, "That dog weighs 10 kg!
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: t=3 s, where t 1s time and s 1s second
T =22 K, where T 1s thermodynamic temperature, and K 1s
kelvin
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subscript category typeface proper usage
quantity  italic Cp specific heat capacity at constant pressure

descriptive roman m,. Mass of a proton
running number  italic == | "
x=X=_ Z X;
n

i=|
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proper: 2.0 uL/L: 2.0x 10 7
43 nm/m; 4.3x 107 7;
7ps/s; Tx 1012 1,
where V. [, and ¢ are the quantity symbols for volume, length,
and time.

mmproper: "ppm," "ppb," and "ppt." and the terms part per million, part per
billion. and part per trillion, and the like
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proper: V. =1000V

max
a mass fraction of 10 %

improper: V=1000V
10 % (m/m) or 10 % (by weight)
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proper: /; =1,(1+0.2 %), or
D=0.2 %,

where D 1s defined by the relation D = (7, - 1,)/1,.

improper: the length /; exceeds the length 7, by 0.2 %
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proper: the water content 1s 20 mL/kg

"""" improper: 20 mL H,O/ kg
20 mL of water/ kg
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proper: 35 cm x 48 cm
1 MHz to 10 MHz or (1 to 10) MHz
20 °C to 30 °C or (20 to 30) °C
123g+2gor(123+2) g
70 % + 5 % or (70|+ 5) %
240x(1+£10%) V

improper: 35 x 48 cm
1 MHz-10 MHz or 1 to 10 MHz
20 °C-30 °C or 20 to 30 °C
123+2¢g
70+ 5%
240 V = 10 % (one cannot add 240 V and 10 %)
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proper: kg/m?, kg - m, or kilogram per cubic meter

improper: kilogram/m?, kg/cubic meter, kilogram/cubic meter, kg per m?, or
kilogram per meter”.
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proper: m =35 kg
the current was 15 A

improper: m = five kilograms
m = five kg
the current was 15 amperes

Lbng.wfll.olé—\b

Slbold 390 o0 23litw] Cidio JSio U laie (B9 > (Sotmo Ul S Gl SIS 3 90 s =
D)1 3929 15 Cwlle 5 (s332 ylado oy

proper: a 25 kg sphere
an angle of 2° 3’ 4"

If the spelled-out name of a unit is used, the normal rules of English
apply: "a roll of 35-millimeter film."

improper: a 25-kg sphere
an angle of 2°3 "4 "
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proper: 15 739.012 53
improper: 15739.01253

15,739.012 53
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proper: (/m) = 3.6 [v/(km/h)](#/s)

improper: 7= 3.6"! vz, accompanied by text saying,
"where / is in meters, v 1s in kilometers per second, and 7 is in seconds"
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proper: tan x
R for resistance
Al. for relative atomic mass

improper: tg x for tangent of x
words, acronyms, or ad hoc groups of letters
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proper: mass divided by volume

improper: mass per unit volume
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proper: A body of mass 5 g

mmproper: Amassof 5 g
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proper: amount-of-substance concentration of B (more commonly called
concentration of B), and its symbol ¢y and ST unit mol/m?® (or a related

acceptable unit)
molality of solute B, and its symbol by or m and SI unit mol/kg (or a

related unit of the SI)

improper: normality and the symbol N, molarity and the symbol M
molal and the symbol m



